
From Steck-Vaughn GED Mathematics

Page 117, #3
The Computer Center sells recordable CDs for $0.89 each. Computer Warehouse sells the same CDs for $1.05 each.

Which expression shows how much a customer will save by buying 25 recordable CDs at the The Computer Center?

1. 25($1.05 – $0.89)

2. 25($1.05 + $0.89)

3. 25 – ($1.05 + $.089)

4. 25 + ($1.05 – $0.09)

5. 25 ÷ ($1.05 – $0.89)

Page 68, #15
Marcus buys a computer on credit. He makes a down payment of $720. He also agrees to pay $85 per month on the remaining balance. What is the total cost of the computer?

1. $ 720

2. $ 765

3. $1020

4. $1275

5. Not enough information is given

